
Mesure d’un Rectangle (I)

Calculez les mesures manquantes pour chaque rectangle.
66

d
m

132 dm

P = ?
A = ?

1.

12
k
m

?

P = 84 km
A = ?

2.
?

45 dm

P = ?

A = 1620 dm2

3.

?

?

P = 70 dm

A = 294 dm2

4.

?

?

P = 112 hm

A = 768 hm2

5.

?

35 cm

P = ?

A = 735 cm2

6.
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Mesure d’un Rectangle (I) Réponses

Calculez les mesures manquantes pour chaque rectangle.
66

d
m

132 dm

P = 396 dm

A = 8712 dm2

1.

12
k
m

30 km

P = 84 km

A = 360 km2

2.
36

d
m

45 dm

P = 162 dm

A = 1620 dm2

3.

14
d
m

21 dm

P = 70 dm

A = 294 dm2

4.

32
h
m

24 hm

P = 112 hm

A = 768 hm2

5.

21
cm

35 cm

P = 112 cm

A = 735 cm2

6.
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